Efficiency vs dr
¢ 01
<
g0.09
30.08
c

=
[~

Ratio

o

-

H [EITIH
: Iiill_llll I [
A

1078 1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.02
0.018F
E F
Q.OlG_—

9.014F
> o
9.012F
2 o
o -
= 0.01:
O o
0.008|

0.006F-
0.004F-
0.002F-
Ve

Ratio

[y
TTTT] T

0.95 . S . SR
107 1072 107
AR(TP, jet)

Efficiency vs pu

50.05—————
Y S T O W T
s A S

B0.04f -+ oo
o Eoo : : : : :
F i S S S S
£ E : : : : :

CTYLS S0 T O e
0.025 N N N N N ]
0.02
0.015
0.01 ; ; : ; : :
e

9 E 3 : JLI i
= + ]
¥ 1.05 L 4 -
¥ T
! LA
60 70 80 90 100

asel-newgeom
-ppasetl-newgeom
-ppasel-newgeom
-phasel-newgeom




	Contents
	Page 1


